Get out your homework and have it ready to check. Get out the packet
from Friday. Warm Up by continuing wherever you stopped.

5) Use the exterior angle (140°) to find the missing angle inside the triangle. Then write and solve an equation
to find the value of x. Then find the missing angle.




We can alwayvs write and solve for x and find missing angles whenever we are given the overall measurement of
the angle pairs. Make sure vou pay close attention to what the angles are equal to.

6) Write and solve an equation to find the value of x using the information given. Then find the missing

a -
A)£KLM = 88° B) £EFG = 158° C)£KJI = 140°

x= LKJA =
LIJA =




1) Write and solve an equation to find the value of x. Find the measurements of the missing angles using x.
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1) Write and solve an equation to find the value of x. Find the measurements of the missing angles using x.
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Complementary Angles — angles that add 1o 90°
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Remember = Giving a
COMPLEMENT is the RIGHT thing

Supplementary Angles — angles that add to 180°

~ Remember = Everv straight
. line is equal to 180°
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2) Write and solve an equation to find the value of x. Then find the missing angle(s).
A) 4 B)
1
:tl _,_.,-""F -FF-F.. !
. —23° x°
-
X = 21 = ¥ =

4 ©)
34° 1
125% 8x*
> u >
L2= ¥ = £3=




D) 4

-]
2° [(7x-9)
11

L 18O
RESX ML

Ly®
R LNPPL 1\




e

3) Write and solve an equation to find the value of x using the information given. Then find the missing
angle(s). Make sure vou pav close attention to what the angles are equal to.

A)AUVW = 112° B)£GHI = 165° C) LIJK = 144°
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2) Write and solve an equation to find the value of x. Then find the missing angle(s). SHOW WORK AND LABEL
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Get out your homework and have it ready to check. Get out the packet
from Friday. Warm Up by continuing wherever you stopped.

5) Use the exterior angle (140°) to find the missing angle inside the triangle. Then write and solve an equation
to find the value of x. Then find the missing angle.




We can alwayvs write and solve for x and find missing angles whenever we are given the overall measurement of
the angle pairs. Make sure vou pay close attention to what the angles are equal to.

6) Write and solve an equation to find the value of x using the information given. Then find the missing

a -
A)£KLM = 88° B) £EFG = 158° C)£KJI = 140°

x= LKJA =
LIJA =




